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Combinations of Rigid Transformation Notes

Ex1. Graph the following transformations:
Toget A’R’C’ (x,y) > (x+4,y+1)

Followed by (x,y) = (x+2,y—3) to get A”’B”’C”’
Followed by (x,y) > (x—8,y+7) to get A””’B>’C*”’

8

#-

ffv‘i?

R W *2315) . 4

Ex2. (x,y) > (x+6,y) followed by (x,y) = (-x,))
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Rewrite as a Single Coordinate Rule:
ABC _> A”)B”’C”’
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Single Transformation Rule:

Ex3. (x,y) = (—x,y), followed by (x,y) > (x+6,y).
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Single Transformation Rule:
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Rotate 270 degrees clockwise Q
(xy) >~ \l/ : )

then translate up 1.

(53) > (=Y, X4+ i\
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Single Transformation Rule:
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ARC to A’R’C’ Potate 90 degrees clockwise
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A’R’C’ to A”R’’C”’ then translate left 3. 44—
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Single Transformatlon Rule:
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